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invariant mass from two leading truth jet(label=5)

350 E
300 E
250 E
200 E
150 E
100 E

501

histo_Mass
Entries 15749
Mean 94.72
RMS 20.22
| L | L | L | P I “irgnesnle deiog b1y
0 20 40 60 80 100 120 140 160 M 180 ° Ge \2/?0

Entries [1/GeV]

invariant mass from two leading truth jet(label=5)

his!

to

_Mass

700 "
Entries 26314
- Mean 94.83
600 C_ RMS 20.15

500 f—
400[—
300 S—
200 S—

100{—

0—1

0

20 40 60

ZE:a',:eU(HIJIEI) A:ELLNSE)

1 1 1 1 1 1 1 1 1 1 | | e Lo
80 100 120 140 160 _ 180 _ 200
M, e [GEV]




Jet pt&b-jet pt
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first, second leading b-jet
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difference between Second Leading Jet and Second Leading Truth Jet
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difference between first leading jet and second leading jet
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distance and second leading jet_pt
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